

Houghton Mifflin Harcourt

Proposal Prepared For Craig City School District

Attention: Stacia Schwanke sschwanke@craigschools.com

For the Purchase of:

Into Reading K-5 - 6 Year Subscription

Prepared By Debra White debbie.white@hmhco.com

Please submit this proposal with your purchase order.

Purchase orders or duly executed service agreements for **Professional Services** purchased, must be submitted at least 30 days before the service event date.

Attention: Stacia Schwanke sschwanke@craigschools.com Customer Experience 9400 South Park Center Loop Orlando, FL 32819 FAX: 800-269-5232 k12orders@hmhco.com

HMH Confidential and Proprietary

008020213

Sold:0000300301 Ship:0000300301

Proposal for Craig City School District

Expiration Date: 6/27/2021

					Free
ISBN	Title	Price	Quantity	Value of All Material	Materi Quant
	Grade K				
Student Digital	Licenses				
310878 9780358574712 Package Includ Digital Studer Implementatio	es: nt Resources 6 Year Grades K-6	\$96.00	25	\$2,400.00	
Total for Stude	nt Digital Licenses	\$2,400.00			
Teacher Digital	Licenses				
09711 978035856592	5 Into Reading Teacher License Digital with Teacher's Corner 6 Year Grades K-6	\$450.00			3
Total for Teach	er Digital Licenses	\$0.00			
A la Carte Items	s Available for Purchase				
Teacher Materia	als				
05118 9780358526346	5 Into Reading Teacher Guide Set Grade K	\$150.00	3	\$450.00	
36143 978132863903	5 Into Reading Big Book Set Grade K	\$220.00	3	\$660.00	
03398 9780358517016	5 Into Reading Read Aloud Set Grade K	\$120.00	3	\$360.00	
42471 9780358056283	7 Into Reading Instructional Card Kit Grade K	\$69.45	3	\$208.35	
38477 978035801983 [,]	Into Reading Start Right Reader Set of 6 Grade K	\$162.00	3	\$486.00	
21083 9781328522900	Into Reading Tabletop Minilessons Reading Grade K	\$31.00	3	\$93.00	
16734 9781328491602	2 Into Reading Tabletop Minilessons English Language Development Grade K	\$31.00	3	\$93.00	
36277 9780358001508	Into Reading Rigby Leveled Library with Take and Teach Lessons Grade K	\$1,000.00	3	\$3,000.00	
Student Materia	lls				
05090 9780358526063	Into Reading Student myBook 6 Year Print Grade K	\$48.00	25	\$1,200.00	
Total for A la Ca	arte Items Available for Purchase	\$6,550.35			
otal for Grade K		\$8,950.35			
	Grade 1				
Student Digital			_	A	
310878 9780358574712 Package Includ Digital Studer Implementatio	es: nt Resources 6 Year Grades K-6	\$96.00	25	\$2,400.00	
Total for Stude	nt Digital Licenses	\$2,400.00			
Teacher Digital	Licenses				
	Attention: Stacia Schwanke sschwanke@craigschools.co	m	9400 South Orlan	ner Experience n Park Center Lo do, FL 32819	ор
008020213	HMH Confidential and Proprie		k12orde	800-269-5232 rs@hmhco.com	o order

Page 2 of 8

Please submit this form with your purchase order

Proposal for Craig City School District

ISBN			Price	Quantity	Value of All Material	Free Materia Quanti
809711 978035856		ense Digital with Teacher's Corner 6	\$450.00			3
	Year Grades K-6 ncludes: eacher Resources 6 Year Grades I o Teacher's Corner	К-6				
Total for Te	acher Digital Licenses		\$0.00			
A la Carte It	ems Available for Purchase					
Teacher Ma	terials					
805119 978035852	6353 Into Reading Teacher Gui	ide Set Grade 1	\$150.00	3	\$450.00	
714678 978132846	8970 2020 Into Reading Writing	Workshop Teacher's Guide Grade 1	\$42.00	3	\$126.00	
805124 978035852	26407 Into Reading Teaching Pa	al Set Grade 1	\$38.00	3	\$114.00	
736147 978132863	9097 Into Reading Big Book Se	et Grade 1	\$84.00	3	\$252.00	
736145 978132863	9059 Into Reading Read Aloud	Set Grade 1	\$88.00	3	\$264.00	
736148 978132863	9103 Into Reading Trade Class	room Library Single Copy Set Grade 1	\$24.85	3	\$74.55	
742472 978035805	6294 Into Reading Instructional	Card Kit Grade 1	\$73.05	3	\$219.15	
738478 978035801	9848 Into Reading Start Right F	Reader Set of 6 Grade 1	\$259.20	3	\$777.60	
721084 978132852	2917 Into Reading Tabletop Mir	nilessons Reading Grade 1	\$31.00	3	\$93.00	
716735 978132849	1619 Into Reading Tabletop Mi Development Grade 1	nilessons English Language	\$31.00	3	\$93.00	
736278 978035800	1515 Into Reading Rigby Level Lessons Grade 1	ed Library with Take and Teach	\$1,000.00	3	\$3,000.00	
Student Ma	terials					
805103 978035852	26193 Into Reading Student myE	Book Softcover Set 6 Year Print Grade 1	\$48.00	25	\$1,200.00	
Total for A	a Carte Items Available for F	Purchase	\$6,663.30			
Total for Grade	<u>1</u>		\$9,063.30			
Student Dig	Grade 2 ital Licenses					
		ense Digital 6 Year Grades K-6 <-6	\$96.00	25	\$2,400.00	
Total for St	udent Digital Licenses		\$2,400.00			
Teacher Dig	jital Licenses					
809711 978035856	Year Grades K-6	ense Digital with Teacher's Corner 6	\$450.00			3
	icludes: eacher Resources 6 Year Grades I o Teacher's Corner	K-6				
Total for Te	acher Digital Licenses		\$0.00			
		Attention: Stacia Schwanke sschwanke@craigschools.com		9400 South Orlan	ner Experience n Park Center Lo do, FL 32819	ор
		HMH Confidential and Propriet	arv		800-269-5232 rs@hmhco.com	

 HMH Confidential and Proprietary
 k12orders@hmhco.com

 008020213
 Sold:0000300301
 Ship:0000300301
 Page 3 of 8
 Please submit this form with your purchase order

Proposal for Craig City School District

FAX: 800-269-5232

		Graig City School D	ISTUCT			_
	ISBN	Title	Price	Quantity	Value of All Material	Free Materia Quant
A la	a Carte Items A	Available for Purchase				
Теа	acher Materials	3				
805120 9	9780358526360	Into Reading Teacher Guide Set Grade 2	\$150.00	3	\$450.00	
714679 9	9781328469809	2020 Into Reading Writing Workshop Teacher's Guide Grade 2	\$42.00	3	\$126.00	
305125 §	9780358526414	Into Reading Teaching Pal Set Grade 2	\$38.00	3	\$114.00	
736146 §	9781328639080	Into Reading Read Aloud Set Grade 2	\$132.00	3	\$396.00	
736149 9	9781328639110	Into Reading Trade Classroom Library Single Copy Set Grade 2	\$24.85	3	\$74.55	
742513	9780358056300	Into Reading Instructional Card Kit Grade 2	\$75.05	3	\$225.15	
738479	9780358019855	Into Reading Start Right Reader Set of 6 Grade 2	\$172.80	3	\$518.40	
721085	9781328522924	Into Reading Tabletop Minilessons Reading Grade 2	\$31.00	3	\$93.00	
716736 §	9781328491626	Into Reading Tabletop Minilessons English Language Development Grade 2	\$31.00	3	\$93.00	
736279	9780358001522	Into Reading Rigby Leveled Library with Take and Teach Lessons Grade 2	\$1,000.00	3	\$3,000.00	
Stu	Ident/ Material	S				
805104	9780358526209	Into Reading Student myBook Softcover Set 6 Year Print Grade 2	\$48.00	25	\$1,200.00	
Tot	al for A la Car	te Items Available for Purchase	\$6,290.10			
otal for	Grade 2		\$8,690.10			
Stu	ıdent Digital Li	Grade 3 censes				
	9780358574712 Package Includes Digital Student I Implementation	Resources 6 Year Grades K-6	\$96.00	25	\$2,400.00	
Tot	al for Student	Digital Licenses	\$2,400.00			
Теа	acher Digital Li	icenses				
	9780358565925 Package Includes Digital Teacher	Into Reading Teacher License Digital with Teacher's Corner 6 Year Grades K-6 : Resources 6 Year Grades K-6	\$450.00			3
_	Access to Teacl					
		Digital Licenses Available for Purchase	\$0.00			
	acher Materials					
	9780358526377	Into Reading Teacher Guide Set Grade 3	\$150.00	3	\$450.00	
	9781328469816	2020 Into Reading Writing Workshop Teacher's Guide Grade 3	\$42.00	3	\$430.00	
		Attention: Stacia Schwanke sschwanke@craigschools.com	ı	9400 South Orlan	ner Experience n Park Center Lo do, FL 32819 800-269-5232	ор

1736151 9781328639134

1721087 9781328522948

1716738 9781328491640

1736281 9780358001546

Student Materials

Proposal for Craig City School District

		Craig City School D	istrict			
	ISBN	Title	Price	Quantity	Value of All Material	Free Materials Quantity
1805126	9780358526421	Into Reading Teaching Pal Set Grade 3	\$38.00	3	\$114.00	
1736150	9781328639127	Into Reading Trade Classroom Library Single Copy Set Grade 3	\$24.85	3	\$74.55	
1721086	9781328522931	Into Reading Tabletop Minilessons Reading Grade 3	\$31.00	3	\$93.00	
1716737	9781328491633	Into Reading Tabletop Minilessons English Language Development Grade 3	\$31.00	3	\$93.00	
1736280	9780358001539	Into Reading Rigby Leveled Library with Take and Teach Lessons Grade 3	\$1,000.00	3	\$3,000.00	
S	tudent Materials	3				
1805105	9780358526216	Into Reading Student myBook Softcover Set 6 Year Print Grade 3	\$48.00	25	\$1,200.00	
т	otal for A la Car	te Items Available for Purchase	\$5,150.55			
Total fo	r Grada 2		\$7,550.55			
Total IC	or Grade 3		\$7,550.55			
S	tudent Digital Li	<u>Grade 4</u> icenses				
1810878	Package Includes	s: Resources 6 Year Grades K-6	\$96.00	25	\$2,400.00	
т	otal for Student	Digital Licenses	\$2,400.00			
Т	eacher Digital L	icenses				
1809711	9780358565925 Package Includes Digital Teacher	Into Reading Teacher License Digital with Teacher's Corner 6 Year Grades K-6 S: Resources 6 Year Grades K-6	\$450.00			3
	Access to Teac					
Т	otal for Teacher	Digital Licenses	\$0.00			
A	la Carte Items /	Available for Purchase				
Т	eacher Materials	5				
1805122	9780358526384	Into Reading Teacher Guide Set Grade 4	\$150.00	3	\$450.00	
1714681	9781328469823	2020 Into Reading Writing Workshop Teacher's Guide Grade 4	\$42.00	3	\$126.00	
1805127	9780358526438	Into Reading Teaching Pal Set Grade 4	\$38.00	3	\$114.00	

Attention: Stacia Schwanke sschwanke@craigschools.com

Into Reading Trade Classroom Library Single Copy Set Grade 4

Into Reading Tabletop Minilessons Reading Grade 4

Into Reading Tabletop Minilessons English Language Development Grade 4

Lessons Grade 4

Into Reading Rigby Leveled Library with Take and Teach

Customer Experience 9400 South Park Center Loop Orlando, FL 32819 FAX: 800-269-5232 k12orders@hmhco.com

\$74.55

\$93.00

\$93.00

\$3,000.00

\$24.85

\$31.00

\$31.00

\$1,000.00

3

3

3

3

Proposal for Craig City School District

Expiration Date: 6/27/2021

ISBN	Title	Price	Quantity	Value of All Material	Free Materials Quantity
1805106 9780358526223	Into Reading Student myBook Softcover Set 6 Year Print Grade 4	\$48.00	25	\$1,200.00	
Total for A la Ca	rte Items Available for Purchase	\$5,150.55			
Total for Grade 4		\$7,550.55			
Student Digital	Grade 5				
C C		Aaa aa		Aa (aa aa	
1810878 9780358574712 Package Include Digital Studen Implementatio	es: t Resources 6 Year Grades K-6	\$96.00	25	\$2,400.00	
Total for Studen	t Digital Licenses	\$2,400.00			
Teacher Digital	Licenses				
1809711 9780358565925	Into Reading Teacher License Digital with Teacher's Corner 6 Year Grades K-6	\$450.00			3
Package Include Digital Teache Access to Tea	es: er Resources 6 Year Grades K-6				
Total for Teache	er Digital Licenses	\$0.00			
A la Carte Items	Available for Purchase				
Teacher Materia	ls				
805123 9780358526391	Into Reading Teacher Guide Set Grade 5	\$150.00	3	\$450.00	
714682 9781328469830	2020 Into Reading Writing Workshop Teacher's Guide Grade 5	\$42.00	3	\$126.00	
1805128 9780358526445	Into Reading Teaching Pal Set Grade 5	\$38.00	3	\$114.00	
1736153 9781328639141	Into Reading Trade Classroom Library Single Copy Set Grade 5	\$24.85	3	\$74.55	
1721088 9781328522955	Into Reading Tabletop Minilessons Reading Grade 5	\$31.00	3	\$93.00	
716739 9781328491657	Into Reading Tabletop Minilessons English Language Development Grade 5	\$31.00	3	\$93.00	
736282 9780358001553	Into Reading Rigby Leveled Library with Take and Teach Lessons Grade 5	\$1,000.00	3	\$3,000.00	
Student Materia	ls				
805107 9780358526230	Into Reading Student myBook Softcover Set 6 Year Print Grade 5	\$48.00	25	\$1,200.00	
Total for A la Ca	rte Items Available for Purchase	\$5,150.55			
Fotal for Grade 5		\$7,550.55			
	Professional Services- Into Reading K-6				
Implementation					
advantage of Int	Into Reading Follow Up Live Online 1 Hour Grades K-6 ons build upon the Getting Started to help teachers take full to Reading's components, assessments, differentiation, and digital the needs of their students. An HMH Services team member will work		1		
	Attention: Stacia Schwanke sschwanke@craigschools.com	1	9400 South Orlan	ner Experience n Park Center Lo do, FL 32819 300-269-5232	ор
	HMH Confidential and Propriet	ary		rs@hmhco.com	

Proposal for Craig City School District

ISBN	Title	Price	Quantity	Value of All Material	Free Materials Quantity
with you to choose from key Into R personalized Follow-Up 1 hour live	eading classroom-focused topics to create a online session(s).				
Getting Started and Follow-Up	ive Online				
The Getting Started live online ses for their first weeks of instruction. F experiences to learn about the orga	titing Started Live Online 2 Hour Grades K-6 sion is streamlined to focus on preparing teachers articipants engage in a variety of interactive inization and resources of Into Reading. The goal eachers for a strong start with Into Reading.	\$800.00	1	\$800.00	
Total for Getting Started and Fo	llow-Up Live Online	\$800.00			
Total for Professional Services- Ir	to Reading K-6	\$800.00			

Total Savings:	\$8,100.00
Subtotal Purchase Amount:	\$50,155.40
Shipping & Handling:	\$2,971.21
Sales Tax:	\$0.00
Total Cost of Proposal (PO Amount):	\$53,126.61

Attention: Stacia Schwanke sschwanke@craigschools.com Customer Experience 9400 South Park Center Loop Orlando, FL 32819 FAX: 800-269-5232 k12orders@hmhco.com

HMH Confidential and Proprietary

Total Cost of Proposal (PO Amount): \$53,126.61

Thank you for considering HMH as your partner. We are committed to providing an excellent experience and delivering ongoing, highquality service to our customers. To meet these goals, we want to ensure you are aware of the below Terms of Purchase. These terms help us process your order quickly, efficiently, and accurately, ensuring successful delivery and implementation of our solutions.

- · Please return this cost proposal with your signed purchase order that matches product, prices and shipping charges.
- Provide the exact address for *delivery* of print materials. The shipping address may be your district warehouse or individual school sites, but it is essential that this is accurate.
- Please supply the name of each important district point of contact for all aspects of the solution including their direct contact information (email/phone):
 - o Point of Contact for Print materials
 - o Point of Contact for Digital materials
 - o Point of Contact for Scheduling Professional Development
- Please confirm that we have the correct 'Ship to' and 'Sold to' information on the cost proposal.
- Ship to:Sold to:Craig City School DistrictCraig City School District
- ,
- Please provide funding start and end dates.
- Please note that all products and services will be billed upon the processing of your purchase order.
- · Our payment terms are 30 days from the invoice date.
- Print subscription material quantities may be adjusted across grades for like products, to accommodate enrollment fluctuations, quantities cannot be adjusted between different programs or copyrights.
- Our shipping terms are FOB shipping point. The shipping term for your proposal is Shipping Point.
- Should any of these Terms of Sale conflict with any preprinted terms on your purchase order, the HMH terms of service shall apply.

Thank you in advance for supplying us with the necessary information at time of purchase.

Our goal is to ensure your success throughout the duration of this agreement, which starts with a highly successful delivery of our solution.

For greater detail, the complete Terms of Purchase may be reviewed here: http://www.hmhco.com/common/terms-conditions

Date of Proposal: 5/13/2021

Proposal Expiration Date: 6/27/2021

Houghton Mifflin Harcourt

Attention: Stacia Schwanke sschwanke@craigschools.com Customer Experience 9400 South Park Center Loop Orlando, FL 32819 FAX: 800-269-5232 k12orders@hmhco.com

HMH Confidential and Proprietary